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Time : 3 hours) e TR T R K P— [M.M. : 100

- General Instructions

-~ - (i) This paper is divided into three sections : A, Band C. All the sections are compulsory.
.~ (i) Separate instructions are given with each section and question, wherever necessary. Read
these instructions very carefully and follow them faithfully.

(iii) Do not exceed the prescribed word limit while answering the questions.

(Reading)
Q. 1. Read the passage and on the basis o your understanding of the passage answer the questions given
: | | - | (12
_ P?I%’i‘ﬁackér&y l:ea_ched Kittur along with a small British army force and a few of hist officers. He
-~ "'thought that the very presence of the British on the outskirts of Kittur would terrnn'se the rulers
and people of Kittur, and that they would lay down their arms. He was quite confident that‘he
would be able to crush the revolt in no time. He ordered that tents be erected on the eastern 51::1&
for the fighting forces, and a little' away' o' the ‘Western slopes tents be put up for .the family
members of the officers who had accompanied them. During the afternoon and evening of 20th
October, the British soldiers were busy making arrangements for these camps.

2.0n the 21st morning, Thackeray sent his political assistants to Kittur fort to obtain a W’I:lﬁ'EIl

assurance from all the important officers of Kittur rendering them answerable for t.he secunFy of

the treasury of Kittur. They, accordingly, met Sardar Gurusiddappa and other officers of Kittur

- and asked them to comply with the orders of Thackeray. They did not know that the people were

in a defiant mood. The commanders of Kittur dismissed the agent’s orders as no documents could
be signed without sanction from Rani Chennamma.

3.Thackeray was enraged and sent for the commander of the Horse Artillery, which was ﬂbgl.l_i; 11(-}10
strong, and ordered him to rush his artillery into the Fort and capture the Cf}mmanders 0 ! :i-
~ ~ Desai's army. When the Horse Artillery stormed into the fort, Sardar Gurusiddappa, who TIE;
- kept his men on full alert, promptly commanded his men to repel and chase them away. The
Kittur forces made a bold front and overpowered the British soldiers.

4.Inthe meanwhile, the Desai's guards had shut the gates of the fort and the British ﬁﬂrse Arl:i]leﬁz:}r
men, being completely overrun and routed, had to get out through the escape mdnw. Ral:lh 5
soldiers chased them out of the fort, killing a few of them until they retreated to their camps on the
outskirts.

5. Afew of the British had found refuge in some private residences, while some were hiding in their
tents. The Kittur soldiers captured about forty persons and brought them to the palace. These
included twelve children and a few women from the British officers’ camp. When they wer;'
broughtin the presence of the Rani, she ordered the soldiers to be imprisoned. Fnr'the womenan :
children she had only gentleness, and admonished her soldiers for taking them into custody. A
her orders, these women and children were taken inside the palace and given food and shelter.

- Rani came down from her throne, patted the children lovingly and told them that no hﬂrm would
come to them.

~ {20 marks)
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6. She, then, sent word through a messenger to Thackera}' that the British women and children were

safe and could be taken back any time. Seeing this noble gesture of the Rani, he was moved. He
wanted to meet this gracious lady and talk to her. He even thought of trying to Persuade her to

enter into an agreement with the Brilish to stop all hostilities in lieu of an Inam (prize) of eleven
villages. His offer was dismissed with ag

Ppa and other leading Sardars, and after discussing all
he:re Was no point in meeting Thackeray who had come

1.1 Answer each of the questions given below
(i) Thackeray was a/an

(a) British tourist. |
[c) advisor to the Rani of Kittur.
(ii) British women and children came to Kittur to

(a) visit Kittur.
(c) -stayin the palace.

(iii) The thoughtin the mind of Thackeray while whe
(@) he would conquer Kittur
(b) he would be able to crush the revolt
(c) he would enslave the Ranji '

(d) he would terrorise the rules and the people and thus force them to lay arms
(iv) Theckeray could not take any aclean before 21st mormning because

£

. (a) he could not speculate the military strength of Kittur . — - o
(b) the British soldiers were busy-making drrangements for these comps |
(c) he wanted to speculate how much terrified the people of Kittur were
(d) he thought that the Kittur's military would approach for reconcliation

(v) Thackeray's offer for meeting Rani was refused by her because she

(a) smelt some trick meet

(b) felt it below her dignity to go herself to him

(c) felt that she might be arrested

(d) concluded that these was no point in meeting Thackeray who had come with an army to

threaten Kittur into submission to British Sovereignty

1.2 Answer any five of the following questions briefly :
(i) Why did Thackeray come to Kittur? '

(ii) Why did Kittur officials refuse to give the desired assurance to Thackeray?
(iii) What happened to the Hc:r;e Artillery?
(iv)] How do we know that the Ranj was a noble soul?

(v) How, in your opinion, would the British women have felt after meeting the Rani?
(vi) Why did the Rani refuse to meet Thackeray?

(1x5=5

(b) army officer.
(d) treasury officer.

(b) enjoy life in tents.

llx5=5]

1.3 Pick out the words/phrases from the passage which are similar in meaning to the following :

(1x2=2
(i) aggressive/refusing to obey (para 2)

(ii) entered forcibly (para 3)

Q. 2. Read the passage below: (8)

The term dietary fibres refers collectively to indigestible carbohydrates present in plant foods.
The importance of these dietary fibres came into the picture whenitwas observed that the people

having diet rich in these fibres had low incidence of coronary heart disease, irritable bowe]
syndrome, dental caries and gall stones.

The foodstulls rich in these dietary fibres are cereals and grains, lequmes, fruits with seeds, citrus
fruits, cabbage, green leafy vegetables, apples, melons: peaches, pears etc.

¢sture of contempt. She had no wishto meet Thackeray. -
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| - These dietary fibres are not digested by the enzymes of the
‘whereas most other carbohydrates like starch and sugar are dj
‘fibres have the prop erty of holding water ang because of it,

‘sponge as these pass through the gastrointestinal tract.

VIDYA mai/marks

stomach and the small intesline,
gested and absorbed. The dietary

these gel swollen and behave like a
The fibres add bulk to the diet and

-, I N . -WWT“I-—

stprandial (after meals) glucose level in
for the management of certain types of
(Methi) seeds, which contain 40% gum,
terol level as compared to other gum

. diabetes. Recent studies have shown that the fenugreek

-, fibre intake prevents or relieves constipation.
and the colon and by decreasing the transit

time, there is less time for exposure of the mucosa to
harmful toxic substances. Therefore,

there is a less desire to eat and the energy intake can be

This may pose a possibility of nutritional deficiency
especially when diets contain marginal levels of mineral elements. This may become an

.. important constraint on increasing:dietary fibres. It-is suggested that an intake of 40 grams_

- - -

. o

dietary fibres per day is desirable. .. ald

(a) On the basis of your reading of the above passage, make notes on it using headings and

TR, | sub-headings. Use recognisable abbreviations, wherever necessary (minimum 4). Use a format
Z , You consider suitable. Also supply an appropriate title toit. {4)
(b) Write a summary of the above passage in about 80 words. (4]

‘

, - (Writing Skills) -
Q.3. AX. International School, Alambagh, Lucknow is looking for a receptionist for the school. Write

- ---- . an advertisement in local newspaper giving necessary details. Draft the advertisemen_if in not
more than 50 words. - (4)

-r-l—J-L‘Il—'I.-.- Nan

{30 marks)

| y P g
As P'rincipal. National Public School, Ramnagar, write a notice in about 50 words informing the

-students that with effect from 20th of January the school shall start at 9 a.m. instead of 8 a.m.
Give reasons for the change.

~ attended to after a lot of precious time had been lost.

Write a letter of complaint in 120-150 words to 'the Medical Superintendent. You are
Karan/Karuna, M-114, Mall Road, Delhi. . 'y (6)

. Or - e
.OnTeacher's Day, you read in a newspaper that privately owned and managed schools in small
towns or even in the suburbs of metropolitan cities exploit their teachers by paying them just a
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fraction of their authorised salaries. This affects their performance in the class
lives of their students. Write a letterin 120-150 words to the editor of a national

voice against such exploitation. Suggest ways to solve this problem. Youare N
Taj Road, Agra.

Q. 5. In certain states of India there is a great imbalance in the male-female ratio. This is the result ,-;.f |
' special treatment given to boys in the family. Why is it s0? How can we change this mindsel?

Sample Paper

room ang thus tha

daily raising yoyy
aviej/Navita, 1 12,

Write an articlein 150-200 words on ‘Genderdiscrimination in society'. You are Karuna/Karan.

Or
Write a speech in 150-200 words on ‘Benefits

morning assembly of your school. You are Karuna/Karan, Head Girl/Head Boy.
Q. 6. The government has banned the useof animals in the laboratories for the pu
Write a debate in 150-200 words either for or against this decision.

Or

Write a report in about 150-200 words on
on 4th July.

(10)
of early rising' to be delivered by you in the .

rpose ol dissection.

[10]

'No Tobacco Day" programme organised by your schooi

nationally integrated make-

hued monster with the help
and lotions.

(a) Name the story and its writer,

-up?

- and later proves to be alive.
Now I'll count up to twelve

and you keep quiet and I will go."
(@) What does the Earth teach us?

(b) What does the poet mean to achieve by counting upto twelve?
(c) What does the poet ask us to do?

(d) What is always alive when everything seems dead?

B e
& oy . ——— - R

l.b_.
gy X

| nd half a
= o ...q.i‘?’fﬂi‘fl‘?’e. Inirrors. They were all incandescent lights, so you can imagine the fiery misery of
: mqse subjected to make-up. The makejup department was first

10 Was assisled by a
-Burmese and the usual

(1x4eq)
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Q. 10.Answer the following question in 120-150 words -

(a) Who S
i “Tas the o'wner of Ramsj6 iron mills? Why did he visit the mil.ls _

(c) Inthelastline of
the poem, 'My Moth X tV-civ’
repeatedly? : eratSixty-six’ Why does the poet use the word 'smile’

(d) According to Keat l
S, what spread
feinoveds Sp s the pall of despondence over our dark spirits? How is it

(9) What do you infer from Sam's letter to Charley?

Why did t
Y he ironmaster invite the peddler to his home? Why did the latter decline jt? ™
1
What were Sophie’s p] | or
011 phe’s plans for her future? Why would you call her dreams unrealjsti
- 11, Answer the following question in 120-150 words : | e
| (6)

g
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T QJ'- It‘:l lfaac;j lf:;piiters ﬂhggve{" be'fw and answer the questions that follow ; [1x4 =4
IR N 1'was ten or ¢lVen years old. I had dec : '
P U ool at the Y.M.C.A. in Yakima that d scided to legrh to swim. There was a

SRRy : offered exactly the o ortunity’ The Yakima River w
T e D trdacherous. Mother continuall y = -
g il _'_*"'""'"-“'.‘""'"‘""I'T* .,'t; .. : o

warned against it, and kept fresh oA mind the details

R R R 2 droWning in the river. But the/A7 M C.A 1w £ Y L's of each
TN AR chatl & ard v v pool was safe. It was onlf two or three feet deep at the
O TR o S R T T, T - - . .
e =P €nd; and while itwagnine feet deep at the other, the drop'was gradual. I got a pair of water
EANCREEN, \’_‘-'111(_3[5. Rnd wen‘g tn‘ the poo¥. I hated to walk naked into it and sfiow my skinny legs. But I subdued
It D my pride and did it. ' ,
R e (a) Nakpe the story afd its writer.
f-'-..r: AR (b) Whe\ did the yiter decide to learn to swim? -
ﬁ,.r..x,. e | ()] Where\did th€ writer decide to leamn sSwimming )
F R R A, . . . A g - : :
SRR e oo @ (d) Why dic mother warned him against swif ming in the Yakima River?
framt 2w i o : :
f T e g Q.8. Read the exthact given below and answer t e questions that follow : [1x4 =4
"‘,__w,—__ e " On their sla§ hedp, these children _ '
;gi,’”nlw- Wear skip§ peepeY throu gh by bones and sgectacles of steel
b R PR e s L 7 -\ .. . - :
g‘?ﬁﬁiﬁ_ﬁ;ﬁiﬁ%{;ﬁ@;* : With mgnded glass)like bottle bits on stofes.
Sin TEem (8) ®Who are these Xhildren? 1. - /. |
A e o - :
& iﬁ‘%_;:*%ﬁﬁgij v .. - _  (bf Whatis their slaf heap?
STt B e

-

LY

S -t A .,
™1 y oy - =

= 2t Haes AN N T o TR | e e —— el
(d) What does ‘with m&nded g Ass_mean’? "~ "t - Teree s e Y

i AL __n , e . .':, e T Thy IV dtag s jomgs s Ty - ey S o
SIS o . c) Why are their bor spegpazna_ ughthe.u:?msz“ : [ LT P

I LT ST -l

Q5. Answer any five of the ollgtving questions in 3040 words dach: - (2x5=10)
-(a) What does Saheb log} rin the garbage dumps?

(b) How was Gandhiji tre&ted at Rajendra Prasad's house?

(c) Why does one feel ‘A sudden strangeness’ on counting’to twelve and keeping quiet?
(d) Mention any two gs wlich cause pain and suffefing. (A Thing of Beauty)

(e) When was the Tjger King if\danger of losing his throne? .

() Where, when afid how did D1\ Sadao meet Hang |

(g) What was the/plea of the folk Wwho had put up e roadside stand?

Q.10. Answer the folfowing question in'120-150 wgrds :
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over the world.
the other gases formingav
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: rbon monoxide may i Y air-tight. Exposure
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There is about 79 per _
€ry small fraction. It is |
d over-crowded place.

l.ﬁl . truethatr_'arbon dioxjde exhal

| But such an j '
How differen{ from usual was the atmysphergat school on the day of the last ]#sson? (The Last | : Increase is usuall

Lesson)

: Dr
How diff¢érent is Jansie from Sophie ?

Q.11. Answey the following question in 120-15% words :

- nes. It -

. (6) aches, pains and depression. Sick building s may also be accompa
' itions i : Small houses, whijc

Everrtoday so many among us beli¢ve in supeistitions. An astro}éger predicted about the Tiger .

. 1 ' concentratio :
Kipgthathe would be killed by a tjer. He ‘killed\one hundregfigers yet was himself 'killed' by a | | 1S exceed those of the ay
jger. How did the superstitiousbelief 'prevail'?
Or

Dr. Sadao faced a dilemma. Should he use his suigica skills to save the life of a wounded person 5.By products of fuel con

‘orhand an escaped Americdn P.O.W over to the Japanise police? How did he resolve this clash burninq ofdried dung a
= 'oﬁralues?_ |

1;.*:".-p i-'!*;;' P A

N gk iy q._‘ﬂ.:.z = - ]
2T w __11. s S g _-"'--'—.
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, _ entis an important source of j :

not be high quantitatively, but siqnifi _ S of Indoor pollution. It ma

. gnificantly ha ‘ &
there are over 3000 chemica) ¥ hazardous for health. It j

constituents in to e whi : - :
are harmful for human health. h pacco smoke, which have been identified. These

7.Micro-organisms oc |
' and allergens are of Special signifi ‘ *
: _ : gnificance in the causation re
c £ diseases. Most of the Infective illness may j nond spread of
Indoor environment. ;
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o oamews _ viDYAmax{marks - English Core XII

osides infect; - ity di : T : . SamglePzger 4287
8.Besides infections, allergic and hypersensitivity disorders are spreading fast. Although asthma is | com EF. _ ‘ r
- - the most common fnrm%t respirgt%ry allergicqc;isorder. pneumonia is not uncommon, but more bc.r*irggs wupg:.f thbis sngd__me:;&m?ﬂ advantage of being weed-free unlike farmyard mamurs whick
0 presistent and serous. These are attributed to exposures to allergens from various fungi, molds, : weeding as the crops mﬁm&?ﬂﬂ grasses Eﬁﬂt&mamﬁ%# Ctoral [2EonT coss S
AN T hay and other organic mm& Indoor alzlr vgﬁﬂtﬂati{otrlll S}F'Stemsﬁ;r cg;ulers, au-cnndit}glr:e;s, thie. v compost is 215 rich in organic carbon. 2nd onr soils 2re sFars im
Ay dampness, decay, pet ani , production or handling of the causative items are responsible for Y £ _ _ .
these hypersensitivity diseases. | _ o _ p a:rm T m! IEdt:dgg ;fcr_f'_g" “H;:Z*F?EG; C;?E compast. [f city waste was compestad befors making i
9. Obviously, the spectrum of pollution is very wide and our options are limited. [ndoor pallutmp - N be mum‘:ﬂs 2ying SOL., Qfles would Be deaned op and tfe Beids armim==
may be handled relatively easily by an individual. Moreover the good work must start from one’s A D_thaemm :W“M " EEE PfEdECt:TE:_ _
own house. - “mmgpmdeWW@ﬁwﬁﬁeamtrm

": T ' - - - - ’US:am.a' h!—E CU::I"I Eh...ﬂ: n v §) Sasyv; ""ll"'"" e ): - . - =
e 1.1 Answer each of the questions given below by choosing the most appropriate option : [1x5=5 - £S Improving the kealth of onr soil witons Smer d2mace BT erresnTe

’
- ) . chemical inputs. What a marvellqus — =
s (i} Which of these according to the passage, is an air pollutant? ' e good Aot i;.L : ;_ : _c.‘:a:;;a:‘m.__ w2sts to Bea'th?

RN " (a) Allgases- (b) Carbon dioxide (c) Oxygen (d) Allofthese ' withstand fotare momean o e Fegulady Laying plastic rads. Plastic roads ¥l oot culy

.- 7 (ii) Why do we feel suffocated in a closed environment? o ' noa-recyclaby 1_-—:?- —p d&_ﬁe bt wil also soive 2 ct¥'s pmblem of Sscosine of

_ (a) D::etolack of oxygen (b) Because the room is air tight J E-:m mdmmm*—iwm? Lis cL___-=-:'L_a ﬁrt:ﬁ'_g ToumtEins of wasts ETrr onT Cies wers o be it

| () Due to burning coal . (d) Allofthese ~- ) e s Muwu._atacde&&pr:ﬁiemcfzﬂmg:grﬁewaﬁE&ﬂ:E

(iii) Which of the following is the most common form of respiratory allergic dzsurd_er? ’ ﬂ-‘a] O_.l&-d-*ﬁ ., ' ] 3

% (a) asthama  (b) pneumonia (c} sleeplessness _ (d) anmiety - o e st of yous understanding cf the sbove pessage. maks ToiES o E oxing Tesfnes i
. _(iv) Which of the following is not responsible for the hypersensitivity diseases? ' . 2eadincs Li_-'e IS0 Zatie ailreTalions Wosr=oer mecessary (i Soie |
g (a) pet animals- (b) dampness . S0C @ format you comsicer s/alle Al suppiy a- ecmrocoas e o i B i |
{c) air condiioners | | (d) bright seenlight - | (5] Wea sum=ary of the passace i abors 80 worss. ) e = |
~ {v) Which of the following pollutants is not among the m:;oor cnn?entraunns -
- - (a) carbon dioxide (b) oxides of niogen { = %" =
R "~ (c) spores | - (d) dirt - _  Section-B | 30 meri=s |
- - 1.2 Answer any five of the following questions briefly - _ (1x5=3 ‘ | | .
(i) How can one overcome the dangers of indoor air pollution? ) _ ‘ (Writing Skills) ~
- (ii) Whatis sick building syndromes | @ 3. You are FaizTelak Mozamdar Evng a0 38, Uls—onr Coiror, Stmis. Fow S 10 Bme = =
g i . (IH]) Hm-.-isindmrsmnk]‘ng_vety hazarduusf : o . o= ] dmnar‘pe:::y:?g;:-ﬁ—-_-hu O Cramrnererss o et s el i o g WRERL
"7 (iv) Inwhat forms are the air pollutants presenit - I ; { =ormal Imration i oot oore than 50 wosss 5 27 Sty mermers 1 EerE 2 carer® Sarerer o -.
- (%) Whatis the composition of air? _ _ | | Somel - = i |
~ __{vi)_What are the main reasens of outdoor air pollution? - e S -Ti-z' 3 ; =y S A Teny ; S .
= : ~ ~ in meani follcwmg:.— x2=4- - e —— — — —————— - - - — . - — e N —— = o
=13 Pick out the words/phrases from mmemms’mh b . ng—t-?—-—--u-—-- — e l ’ - Youare HamshHarsN of 12.Sera Na—a— PIos YT WoETt T S W T BT s S belSS
=== (§) giddiness (para 4) (ii) constant (para 8) o Buiaae ) Se——————n B another cily forwark Drefta seialiie acdrerserers = mip momre M S e e S ;
~ . : (8] ‘ The Pume Times toder e Cacs=aT mede— e S =SS NS T s TS 7T .
Q. 2. Read the passage given below : _ _ ) " health depends not just I iR Fume 1lzes wnder e dassiSed colims — ~ |

~ " Keeping aties clean is essential for keeping their mﬂdmttf heill n we ke p our cittes and their | @-4. You are NeerzjNeeraja Sheithar Princhhal Vase=t PodiSe Schoci Prme. Fre scimed 2as s
perso i utrition, but critically also on how clean we kee S ' . staried @ musc Cepartment MSis 2 Jormes = o B s e D ae® S |
on r_tal g anddn .;tzmnn e and chi:‘-;uﬁgum-'a are intimately linked to the detennoraiing . - cancliersol s ;_____‘_z:_ . e == -‘-L_i@.?: Al Mandy Sorose, P winnessle |
surroundings. The spread of cengu 2 - o eSS AT S o s e e e ST IS T !

2 discount on the catzlagoe mloes {120 - 10 worss) )

]

J

Cr T !

Szl Vidva Pohie Scaool = —~— ‘.

‘1‘- P- = — h";_‘;-l:; - _ '

- L—Il—l—-‘.—_.n i =1 oy - . = —— |

sCsnce for :..‘ ‘:E-. Y L YT SSNSS S DOS-TR0oa tsathEr I death oo 1

et Yot e S s oo reoesemem I The SR :'

u — — "y = ] - o -

XX SIITe amaEviETiEn: SharmE o <L VESETt M~ 3505 D> e sagns imist iuser e

_'-_ e S, S, T T Te——

T AT T S a3 g —- = l
a CV, applying for the adverss S DOST (12X -130 woras) '

state of public health conditions 1n our cities. B _ - _ .
The goo?l news is that waste management to keep Qtes clean is now getting attention through

the Swachh Bharat Mission. However, much of the attention begins etnd st;:u;ﬂ? 11.1'th eﬂ;i ﬁm«;
and the dustbins, extending at most 1o the callection -Et]};ld transporiation of the mix :
ot so di ’ iqht.
Si t o distant place, preferably out of sig _ .
;%mi:;ﬁ::;:z?;mmﬁmg and treating the different streams of solid waste, az}d‘;i;ie dlh-dpofa_l:fet
y ientifi y ' less attention In municpal so i . = -
the residuals in scientific landflls, has received much Q5. RecentfoodsinmanvymerooaNiasSnssoftheo

: WL I hbm&:;b:ﬁi‘ﬁ-ﬁ*\ﬁmﬁaﬁt“t': I TS
- from the health point of vie T P Y = =S SASSIm IS haoeths |
management than Is e:l:p-eCte-d ment for health, we have gﬁt , AW S Qi e Caims i e oo LD OF 'i‘i—:::“.:‘:"_:‘l.‘:‘_‘“:?im e pyls Yo g A hasrSe |

L,
= B

. A . si ste manage : \ .
o One of the problems is that msteﬂg alff E:Tg ::r:?n begin b*?‘ not mixing the biodegradable 3 bm-it Qithe ?rme::xﬁ*ntﬂe S0 ODS WS SVET O3 200tmniaNe WS 1n v Sie T TS v As 3.
. EtANTCkes’ 09 é;ﬂsre fa(r;;e;?; E;ﬂ per cent of the total) in our cities with the dry waste, and 3;::;‘-; Y*‘f-l S ““'Cf-"’-'*‘-‘q *-‘3‘{:‘-—1“-3 2 2OIR00ns and e naad far Aot o She JIDoER ‘
| component of solid wasie S ting and producing a gas called methane. ° : - - You are SumitSmita Varma, - .
- instead use L}ns;strearbrf Oé:aifaﬁzc?iibt;rgﬁdespan alternative 0 f::u:mﬁ‘ard manure (like ) R i Or = =
City compost from bIee=a" ity to simultaneously clean up our cities and help improve | _Youare AlUVAR2 Haad il Hosd Dov ol rour schand. Yog 1o Sacmiy S5ehmhad By the isine ~ases
cow-dung). It provides an 9bpo .alitv of the soil. Organic manure or compast plays & very of aggressive behaviour of STudents I vour schaal. You Samds 20 Soosk Summe mhe 1m s
agricultural productivity and 4u : enriching the nutrient-deficient sotils. : assembiy abont it Write @ speach on “Indiscipline in Schaaiks’. SR 20wemd T

important role as a supplement 1o g‘hemic_\‘al fertilisers 1n
City compost can be the new plaver in the field.

' S -ell-known. The
fits of compost on the farm aré w ‘
pooes s with drought-proofing; and the requirement o

ST IOT & oyooeseinl caraer

water holding capaaty of the sn‘il which uses © \Write a debate ajther far or against the moton. {13200 waras) -
f Jess water per Crop is a welcome i3 Or ]

Q.6. “Academicexoallence is the anly mQuirsment for
soal

ost hel . : L also,makes roots ID S Taahilt v OrOARISEA A s .
lf:::::?fre A apwater-streﬁ od future. By making the soil porous, usgl of (;ﬂmpﬂzld le"""quaniit}‘ of E;D .._;h::?L Nashiy, nxm':.l}\aq.&..,.. O A SO0 STMPAOSINm an tha tomie
e ae : : fore, n S Elactof pallution on ualityaf i Youare Amit Amits Ras =3 - ¥ .
. i mm QSt ere ~ L p\h L. ‘..'1& Al an - l,“ﬁm‘ aaan fy o el 8 :“11-“; — e m e W - R ...
stronger and resistant to pests and decay. Farmers using post t 2 AJETIXD DR MDD IS masaTing.

SRR . -~
ta sugqgest that horticulture crops grown with cojupost have Write & report on the event for your school maganine, (130200 ward<)

4 Ry

pesticides. There is also evidence 0
hetter flavour, size, colour a1d shelf-life.

I R T O R Ry PR ¢ e e e
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(Literature Textbooks)
Q.7. Read the extract given below and answer the questions that follow: - (1x4=4)

Since ES invention a httle over 130 years ago, the interview has become a commonplace of
]ﬁu}’ﬂﬁ sm. Today, almost everybody who is literate will have read an interview at some point in
4 their lives, while from the other point of view, several thousand celebrities have been interviewed
- s | over the years, some of them repeatedly. So it is hardly surprising that opinions of the
it E R S ey S BT e st _ 1F - 1Interview—otf 1t_s funct_yons, m_ethqu_ anc_i merts—vary considerably. (Some might make quite
- PP | e T o prn e 1 extravagant claims f{]l"lt. as being, in its highest form, a source of truth, and, in its practice, an art.
| T of J 4 Others, usua]_!y C91§bﬂﬁl95 WhU:SE? themselves as its victims, might despise the interview as“:n
: 2ty - - . LT N . unwarranted intrusion into their lives, or feel that it somehow diminishes them, just as in ;e
R RN I LY S W B Pt _ } primitive cultures it is believed that if one takes a photographic portrait of somebody then oneis
e N stealing that person's soul. V. S. Naipaul ‘feels that some people are wounded by interviews and
T | , lose a part of themselves,’ Lewis Carroll, the creator of Alice in Wonderland, was said to have had
- - . “‘a just horror of the interviewer' and he never consented to be interviewed— It=vas his horror of
- : .. being lionized which made him thus repel would be acquaictances, interziewers, and the
~ Wil ddbgiosning. oo persistent petitioners for his autograph. _ _
T T P s oy - (a) Why does the writer feel the interview becoming a common place of journalism? ,
DR TR I & S | . (b) How do some people speak highly of interview? .
- SN NI T (c) What similarity lies between the feelings of celebrities and that of the persons of pnmitive
: LT cultures? ' | | |
- TRA R - (d) What was the outcome of the 'horror of the interviewer' that Lewis Carroll had?
iyt Yy eyt ol e s e SR T SRR R S T e Q.8. Read the extract given below and answer the questions that follow: ' C(1x4=4]
Gri=aTio: o | - g - T T e N I R S e T Rt e | The little old house was out with a little new shed - -
. . B . B T RSB LTI o S0 In front at the edge of the road where the traffic sped, R
y s . . 'h, - | _ srey : " 3 X -. T KPS a h I"'-'..'" bLC.ilL;.ﬁiEi.L hibi’hijaﬂ:ilﬂxﬁﬁ‘: .:- ; s ” A IOadSidE Stand_ﬂ]ai_tdcﬁ)aﬂ]EﬁcaHY p].Ed, e ) 1 R —-.-::'”“'-i_:-*.‘—.-_::.'-‘:‘:.:b:
T il T DO AT I SAV IO B T o i It would not be fairto-say for a dale of bread, - B ——————
' AT T Y T T e But for some of the money, the cash, whose flow supports e .
S SR T St o . -' : . T -. - .".. _.,.'_.__-.- .1."‘,::,.? q..-L-_T...LL-:.“-r: o - $, . . . - . d ‘W’itheﬂn fai]]t_ - Fh-h_n_-
_ IS TSI e 1 i D S ST OR R SR T The following of cities from-sinking an g _ -
SRR, : R T oty (a) Why had a new shed been put up by the occupants of the little old house?
v L b e am it (b) Why does the poet refer to the roadside stand as ‘pathetic’?
_ C A TAT s _1'“'*;"“"¢ =i (c) What is the underlying purpose of the shed? N _
R R S SR + (d) Name the poem. = - S )
- e e e 2 LA L ST | Q.9. Answer any five of the following questions in 30- 40 words each: | . [2x5=1M
s e v . - (a) What does the poet's smile in the poem, ‘My Mother at Sixty-six show? :
.5 = e - _f:.'“*‘-"'f ‘** = : | (b) “Listening to theril. I see two distinct worlds ...". In the context of Mukesh, the bangle
¥ - AN TR R R maker's son, which two worlds is-Anees Jung referring to? _
$8 e , (c) Though the sharecroppers of Champaran received only one-fourth of the compensation,
7‘ ERBNGER N S how can the Champaran struggle still be termed a huge success-and victory?¢
' ’ - l : DT RN it '- (d) Which article in McLeery's suitcase played perhaps the most significant role in Evans
IPRSERES ol . - escape and how? - 212
S TR . (e) Why does Derry's mother not want him to go back fo visit Mr. Lambs A
3 e el -“L:;-:"-‘:-"r}—_-'-'-l":'ﬂ'i';r.:_ ' ] ) . . . ] ?
1 e A SR T () What considerations influenced the Tiger King to get married¢
2 ' ' R s s o (g) What is your impression of Sophie’s brother Geoff?
: - RS ERSTAE SANa N R NI R 8 et i : ion i '
oy . ' | TR Rt 0.10. Answer the following question in 120 -150 words: (6)
' ' - JERAI R e | . . 18 : i vet, metaphoricall
| P o ToEREIEE | The barefoot ragpickers of Seemapuri live on the periphery of Delh1 y P Y
gk e v RL e AL RS | speaking, milesaway from it. Comment o
g L Ry o e - i - _-_*__ _-.*u._”..-:‘..... | r ’ . = .
: R &3 4 ;;;:f_’&_ vy I . . . D-
- s A3 PR ' . - ; s of the Gemini Studios. Discuss.
S IR ; A s Film production today has come a long way from the early day
SR * iy ek A4Sk Q.11. Answer the following question in 120-150 e - i ;31]
EFL TN A ., e | _ _ _ i taretica " How is the study of this region use
: o e H | RSN ) '-'- ;-r :E-I.'r';_':'? p , . “The wor]drs geologlcal hlStOIY 1S trapped 1N Antal‘ctlf_‘ﬂ
e e - o et e e R to us? Or
'* ' ' '_ :.‘ ..-,‘* *-"' N e o : ' ? D‘:EJ
G AT §i SRS Ry B T _ : oescape? How did hedo1it .
i R e | Why did Sadao help the American soldiert P
‘ : r L *' ~ :\ . = R g e -
2. - - - ] T T AR - Scanned by CamScanner
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L NEBELAM N ADAY

KENDRIYA VIDYALAYA ISHAPORE

m

SAMPLE PAPER - 02 (2018- 19)

Winter Hollday Homework
SUBJECT : MATHEMATICS !, S  MAX=MARKS+50

R
CLASS : VII|

- e . = =

SECTION -A
1. Add:a-b+ab,b‘-c+bc,.c-a+ac
2. Find the value of(zis)2

3. Find the area of a rhombus whose diagonaléra_reqﬂ;f Iehgths 10 ¢m and 8.2 cm.
4. Anelectric pole , 14 meters high , cast a shadow of 10 meters. Find the height of a tree that casts a

shadow of 15 meters under similar conditions. .
N

e
=l =

5. Find the prCJdUCt . Ri. -

(5-2x) (3+x) | o Jidp ;i

. _t

SECTION-B
6. Subtract 55:2 - 4y? + 6y -3 from 7x2-4xy +8y?+ 51;-3y.
7. Express the following numbers in standard form".' |
(i) 0.0000000000085 (ii) 31860000600 |
8. Find the height of a cylinder whose radips is 7 cm and the total surface area is 968 cm?.

9. There are 100 students in the hostel . Food provision for them.is for 20 days . How long will these
provision last, if 25 more students join the group?

10. A godown is in the form of a cuboid of measures 60m x40mx30_m . How many cuboidal boxes can be
stored in it if the volume of one box is 0.8 m> ?

SECTION-C f
SECTION-C

11. Rashmi has a road map with a scale of 1 cm representlpg 18km. she drives on a road for 72km.  What

would be her distance covered in the map? '_ ‘ ' i

Jl_-h--l

12, Simplify.

 375%1075%125
577 x67*

, “13 Slmpllfy (l) (x e 5)()( +5) +25 (i) (a? + 5) (b3 +3)+5

S "14 Damel is palntlng the walls and cellmg of a cubmdal hall with Iength breadth and henght of 15cm, 10m

s and 7m respectwely From each can of point 100 m? of area IS painted.
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- 15. Using identities , evaluate . 78 x82 ¥ 1,'% zl
SECTION D 1,;. o

_16 The shape of a garden is rectangular in the mlddle and semi cnrcular at the end as shown in diagram .
Fmd the area and the perimeter of the garden

17. Using identities,evaluate (i) 1022 (ii) 1532 ~ 1472

18 The lateral surface area of a hollow cylinder is. -ﬁ}224 cm Atis cut along its height and formed a
rectangular sheet of width 33 cm . Find the perlmeter of re tangular sheet?

19. Verify Euler s formula for these solids :

(i) oW

20. Rajesh, Meena, Nisha and Yash have formed a practice group in badminton club . Each players wishes to
play against each other player once . They have reserved two practice table for these maches.

Complete the following match schedule by writing the names of player in each match .

Practice Table-1 ... | Practice Table -2
i .- r - L ] B i -
| Rajesh -_;_Nisha.?,‘ A .
T8 SRS R AR T IR TR T R R ¥ LS | R
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Time allowed: 8 hours E”Lq L’S H Smrr— | : opportumty and let him join the leisurely ventures |

| : _ ‘ Maximum marks: 80 - 7. It is, therefore, the duty of the close relatives angd friends to take the bereayv d out of

- G eneral In s_l:r_t_ic_tions: , o — | _ . - the depressing climate and give a fresh air of life ang happy thoughts. - Ny
‘| -+ 1. This paper is div R e ,C o | . | A. On the basis of your understandin of the a PO
9. Se afatp : stru E?Ed tnto thr * se;ctlgns A, B Efnd b.'.Al_l the sections are compulsory, . questions given below with the helgp of 0ptil)z: ‘z}ﬂ:l:: Hﬁ‘e ﬂf:lswer oy Mok
L oporete instructions are given with each Section and question, wherever necessary, 1. In the last phase of grief: " ol o Mar}cs)

_ "Re'ﬁd'these instructions very carefully and follow them faithfully.

' - . o _ B (a) There is a relief {from pain and ne ative feelings.
s 3 _Dq nc:,\t_ ex;eed the prescribed word limit while answering the questions, . (b) There is still pain and grief. g g
s T I L | . = ) (c)The person is ready to cope with the situation, ready to face reality.
R . SECTION-A:READING =~ *:= - - - (@) Both (a) and (c) * A
a Il_.'Réé d the fﬁll_owing paséage carefully: By _' ) b (12 P . 2. One must grieve with the person who is bereaved to show: |
.1 There are times when everyone has to face grief. When someor d e (a) .'Ihat' you too value mourned person R -
- : ' ne dear to oneself dies, (b) To distract him or her o
;. .. conels left with a state-in which shock ang grief overcome the ordinary. life. One js . . ' d 4 wh dutv ; .
co o T Tleftin g situation when one feel§ there is nothing one can do. Grief and mournin ' | . i i Ao ' | | !
| . MSEY - o _ . OUININg are (d) You are his or her well-wisher _ 1
_ . .. always associated with death. It also happens with other kinds-of losses. Tt could be ' » marson in orief d; : | | - x|
- = ... theloss of one’s job, losing one’s own house and the loss of a close friend or a partner. . 1 - | S he person in grief Qispalys: : | '
== 2. The best people.able to cope with these are-those, who come from cultures that have = ' L~ e Brions _ | ) -
. strict, formal and intensive mourning ritual. In India we have diverse rituals which B E-IUG}’S eaj: . . - |
) - ... . nowadays are being discarded..But these help in surmounting the crisis. The near | . (c) d]fﬁcmb.f n 95.1:12:[13
.- and dear ones come to share the grief and apply the balm with their words of solace. ' (d) Bgth_(a) and (c) : — -
it .~ In modern society one is expected to act as if nothing has happened, but research has 4. On passing through all the stage of grief: . |
4 tFw.. .. . .shown that mourning is an essential part of coming to terms with Joss. There comes a ~ - (@) Time passes smoothly | | !
e.r .ot .. time when one has to give up one’s grief and rejoin the mainstream of lifé. Mourning (b) Time passes with difficulty | i
by s o initself passes through these phases. Firstly it is the nature of shock and disbelief. A ! . .(c) Pr oblems Increase with time
~ s . .. feeling of numbness overtakes. The brain is not in a position to acceptit. It so happens 3 (@) All of the above -
“° . - that'oné expects the arrival of a lost one thinking that nothing will change and he | ©. The duty of close relatives and friends is to: -
.~ ~'will be with the lost one. In the second phase, one realizes the. truth that the loss has | ‘ | (a) Help the bereaved financially |
‘actually happened, and it was not a dream . It is now that one feels the pain, now one 3 (b) To take the beraved into difficulty
- recollects the old moments and the memory of guilt creeps in. i, A - (¢) To take the bereaved out of difficulty
| + - 3. Here the affected person-displays odd behavior.and has a difficulty in eating and is | (d) To mourn with the bereaved
o R unable.to sleep, .he may remain in this stage for weeks, months and sometimes for . , 6. Which word in (para 8) means ‘shows™
L | ... years, ]'_n_the,next phase , relief from pain and negative feelings creeps in. This ;eads_to - (a) Creeps in | - (b) knows
U L NS positive side. Now he feels he must make alternative arrangements and re.placements. T X% ~«+ ' (c) Displays DL | ~ (d) Ready to cope with
A . Here heisready to cope with the situation. Here he knows that he cannot recover what , B. Answer the following questions in brief: (1 x 4 = 4 Marks)

. heor she has lost, but is conscious for the future accepting the loss and is ready.for the ‘1. 'What are grief and mourning associated with?

s alternatives. ' } 2. Whatt ' ' ' '
] . SVSeRe | . - e | : e of people are able to cope up best with erief and mourning?
LGy . 4. On passing through all the stages of grief it seems that time passes like a river under . : 3. Brief B;P Iaii tlfé first phase of nl::: o AL st
et ~ ° " thebridge. This shows that mourning has been successful. He or she cannot forget the . -5 AT Py % ST T 3 P
EARE o e S e D I R AT I e i w e S ol 3 4. How can close relatives and friends help a bereaved person in coming out of his
7o | loss but comes to the terms of reality. e erief? ' |
©tammecn.oBeGrieveswith-the-pérsonswhois-bereaved: This shows that you too value the mourned |

C. Find words from the passage which mean the same as the following:

person. This gives a helping support, and the bereaved person starts believing you. e e (1 % 2 = 2 Marks)

Your support to the bereaved should not stop after a few days. It may be needed for

months. Assure the affected person that the feelings of grief diminish and it will not
- be same always. | -

- LR R 664 ;=

1. Overﬁome (para 2)
2. A short enjoyable trip (para 6)
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' -'.in the bacteriologist's laboratory, since they onl);

;. .,. .._ __‘___ __;;. get mto the blqdd_ sﬁfaahi 1i.a':érhere anti-bodies can oppose them, the viru
Sviiaes . . attack cells only on the surface. Or it may be that immuhnity from

one of the many

L dlﬁer ent viruses does ndt guarantee protection from all the others, It seerms, therefore,
that we are likely. to have to suffer colds for some time yet. = |

. 3. Draft a displ

| A. On the basis of your understanding of the above passagé make notes on it,
{ ++:. .. using headings and subheadings. Use recognisable abbreviations (wherevey

-.necessary - minimum four) and a format you consider suitable. Also supply

an appropriate title to it.
. B. Write a summary of the passage in about 80 words. .,' (3 Marks)

(5 Marks)

SECTION - B: WRITING SKILLS AND GRAMIAR

- o "‘

-

ay advertisement for ‘English Speaking Classes’ to be published in a leading

i
= - - g c—
()

OR

- 4 ﬁvgryb_o}c_ly knows _t_]:ia_t water is essential for life and it is valuable on the earth. But people
~ waste away lots of Watt_e;'._dgi]y when ‘we need to save it. Draft a poster on ‘Save Water,’

(4 Marks)

4, Write a _Iem}t_e; to the Prin cipal of Green Field School, Delhj complaining that your school
. -library is very inadequately equipped with reference books needed for projects and other

L 4 ] ) ' : : » -

. g efer €nces, aS]ﬂIl J:IlDJ.tD
= g I ':',_'_"'e;_h a3 el WL e e s % e AR o i
- —-::;-l.':rq.hl-‘. md-‘_ -.—.:""";::- |::::: T F -.-‘-."-l-'-rll-i--b...rl.-p—.-l—..l E e T T S R R T o ‘_‘

-get-more-books. You are-Karan/Karuna of class XT.

OR

) = . You are Karan, library in chﬁrge of Modern School, Gaziabad. You had placed an order

S

[ L]

for I?brary books to Full Marks, Publishers of educational books, Delhi but you have not
received them. Write a letter of complaint to the publishers complaining about the same.

(6 Marks)

ENGLISH-CORe=X| —

o B e e — —— e TE & TR ™ — e ——— — -

——— - O Sy,

-----

ses causing cold

e '[_T":'_.‘ S

- -
....

Science Exhibition cum competition hdld in $otrséhiool ©
o . OR | |

-~ Write a speech to be delivered to the students in school-assembly that how mobile phones
- have become an addiction, affecting health and social Jife. | | (10 Marks)
6. In the passage given below, one word has been omitted in each line. Write the
missing word along with the word that comes before and the word that comes

after it. Ensure that the word that forms your answer is underlined: ‘
' (2 x 8 = 4 Marks)

Before = Missing After

Have you ever seen banyan tree? The banyan (@) wnassininee inenvisin O vsszaelles
must be biggest tree found in India. A full _ (D), wonroimimasss s soden o i et
grown banyan is as high as three storeyed building. (0) siiiissdinie osenticossess Vioms A
We do not see banyans in citjes. They are so huge that (d) .............. ... iHasstabtenst duin T~

. they'can grow only in open places. Banyan looks like  (e) ..oorevon.. sesaikispinein, sites: R
palace standing on pillars. It does not have - (1) corsiotinsinn- Wiasredanine B ieiteasaranens
Just main trunk like others do. It has many (Z) e ets mebpnartesstad’ s fhornacssnss
roots coming down. These hanging roots enter ground  (A)*...cocies eevveeveees
and look like smaller trunks. .

7. Re-arfange the following words/phrases to make meaningful sentences.
(1x3=3Marks)

¥ i — ey e o 1 -

(a) report/tomorrowfshallfhefforfduty |

(6) lay down/my life/will/my motherland/for/of/the sake
(¢) work hard/to pass/the eXamination/should/we
8. Transform the following sentences as directed:

(@) He usually is going to school at 7 a.m. (present habit)
(b) The clerk has already typed the letter before the Principal summoned him to do so.

: § . _ - - (passtve voice)
(c) They will talk for hours sitting at the bridge doing nothing. (past habit)

(1 x 3 = 3 Marks)

SECTION - C: LITERATURE AND EXTERDED READING TEXTS/ NOVELS

9. Read the extracts given below and answer the questions that follow-

When did my childhood go ? PR .(1 x 7 ? MarkS) "
‘Was'it when I found my ming wae really mine.
To use whichever way I choose, |

Producing thoughts that were not those of other people

But my own and mine alone ' . - |
Was that the day! | | , | ‘1
(@) Who is the speaker here?
(6) What does the poet realise in the above stanza?
(c) When did the poet loss his childhood?

| OR.
Now she’s dead nearly as many years

As that girl lived. And of this circumstance
There is nothing to say at all

It’s silence silencejs.
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iy e (@) Who is referred to as dead in the above stanza?

£ e (6) Which poetic device is used in the phrase-‘It’s silence silences’? = g '
(c) What was the age of ‘that'gir]’ in the photograph? - R Gl 1.

o7 | - 10 Answer any ._i;hrée of the following questions in 30-40 words e’acﬁ: e .

i S SN e ‘ (3 %859 Maidiay -

. | (a) Why did Taplow have to stay back at school? . x . ,-9 Ma]_;-k_s)
e - e P (b) Why did the gr &H“c'i_mother not like the teaching of English School? o
e - (c) For what reason did the narrator of the story want to forget the address? - =

o B (d) What ultimatum does Mrs. Pearson give to her family? *
G 4 - 11. Answer the following questions in 120-150 words: ' (6 x1=6Mark ).
SR - ‘What c;'lid Carter do to remove mummy from the coffin? Why? - o 5 '
- L : OR |
i =, - How was the author’s experience of Hor in stark contrast to earlier accounts of the plar.:.e'? .
g h S - : 127 Answer the following question in 120-150 words: 6x1=6 Marks) |
Eok o ~-Why was Dr. Apdrew hor_riﬁed w_peil he saw the condition of the t;hjld? Why? o
| a . | . . ’ ‘ ¢ . :. OR. - . - |
ol W _ | What impression do you form of the narrator after reading the-lesson'. ‘The éddress’? ‘
2 P " 13. Answer tf]:_lgﬁf_'q_llm?ing question in 120-150 words: - (6x1=6 Max.'ks)
TR e How -‘doeg- Rajendra Deshpande try to-rationalise the experience of Professor Gaitonde
S R - about his transition to another world and back? o ML g P rea

3 g | | o 0 ~ OR N P n— _ T
) R S ‘Vi{e have not inherited this earth from the fore fathers; we have borrowed it from our
g . chlldren.’ _Explajn_ | . ' | . T :

SO e B - .. Doo
I | | '
; . -
i .
B o -
i ', ' ' :
Y . . . .
! |
I | .
fi ; .
: g |
I ~
f]
i.‘
Vi -
i 1 |
3 s
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KENDRIYA VIDYALAYA ~ = __°
_ _ SAMPLE PAPER
| SUBJECT — MATHEMATICS ' o MAX. MARKS: -
80 o
CLASS - IX ¢ - _ _ Duration: - 3HRS

General Instruction : -
(1) All questions are compulsory.
(11) This question paper contains 40 questions divided‘into four sections A, B, C, D

(ii1) Section A comprises of 20 questions of 1 mark each, Section B comprises of 6 questions
of 2 marks each, Section C comprises of 8 questions of 3 marks each and Section D
comprises of 6 questions of 4 marks each.

(iv) Use of calculator is not permitted.

SECTION A
1. Find the value of &, if x =2, y =1 is a solution of the equation 2x + 3y =k.
2. Factorize: 12x* — 7x + 1
3. Find the value of the polynomial 5x — 4x*+3 at x=- 2
4. Write the linear equation such that each point on its graph has an ordinate 3 times its
abscissa.
5. 5)°=7 -
6. What is the degree of the polynomial 5y’ -5y -6 .
7. Check wheater -2 and 2 are zeros of the polynomials .
8. The cost of a note book is twice of a pen . Write a linear equation in two variable to

represent this statement.
9. Which of the following is true ?
y=3x+2 has - _ .
| (i))One solution (ii) only two solution - (iii) infinitely many solution
10. Is zero a rational number ? | '
11. Which of the following is true

(i) Every rational number is real number (ii)V2 is ratlonal number
(iii) Bothe (i)and (ii) =~ - " (iv) None of these
~ 12. Find the value of the polynomial 5x — 4x%+2 at x=1 and x=0 .
- 13.When a polynomlal is called a Ilnear equatlon? |
. 14 Which of the following is true?

(i) Every linear equation hastwozero S SRl L

I (1) Constant polynomial has no zero

dnls _.__'(i.i,i) Constant polynomlal has onezero
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| 1 SIInpllfy the followmg €Xpressions: a) 23 X 23 b) ( 0) I

(w) None of these. @5y
15 What is the name of horizonta
‘any point in the Cartesian plane'?

| ;rlld vertlcal hnes draw" to determine the position

=6
16. Check weather (1, 2) is solution of the equation 2X+2Y=

17. Which of the following is true? |
(i) Only one line pass through a single point.

(i)’  There areinfinite number of lines pass through two distin .
~(iii) A terminated line can be produced infinitely on the both siae .

(iv)  None of these.

18. Which of the following is true?
(i) The graph of x=a is straight line parallel to the y-axis..

(i) The graph of x=a is straight line parallel to the x-axis.
(i)  The graph of x=a is straight line not parallel to the y-axis.
(iv)  The graph of x=a is straight line not parallel to the x-axis.
19. An equation of line y=mx (m#1) represtentsa line passing trough
(i)Origin (i) not origin  (iii) none of these (iv) (1,1)' :

' 20. Find the two solution of the equation x+y=1.

SECTION - B

i Show that 0.477777....... can be expressed in the form of -E-, where p

and q are integers and q#0
2 If a point C lies between two points A and B such that AC BC, then
prove that AC == AB Explain by drawing the figure.

3 Express the lmear equation in form ax +by +¢ = 0 and indicate the
' - valuesofa,b,c:5=2x | ¥ T4
4 Verify whether the following are zeros of the polynomial: p(x) =

1 2
3x2— X——E,ﬁ

locate v/5 in number line. | '
Find the value of(104)3 (with out multlphcatmn)

@ Un

SECTION - C (an! eng

1

% 2 Solve the equation 2y + 9 =0, and represent the so]utlon(s) on (i) the :
o number line (11) the Cartesian plane. (NO USE OF GRAPH PAPER)

-
i -
- L] '_.l | i I.\.
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Write seven axioms of Euclid’s Geometry.

Factorise : 27p’ - 53— S2p24d p
_ 16 2 4
Factorise : x*- 3x%- 9x- 3

SN A W

The Autorikshaw fare in a city is charged Rs 10 for the first kilometer and
@ Rs 4 per kilometer for subsequent distance covered. Write the linear

equation to express the above statement. Draw the graph of the linear
equation.

Find the value of k if (x-1) is a factor of 4x> + 3x* —4x + k

Without actually calculating the cube find the value of : (-28)% + (15)° +
(13)° '

o0 ~J

SECTION - D
1 Plot the following points on a graph paper:

Join these points. What do you observe?

2 Draw the graphs of the equations 3x —2y =4 and x + y—3 =0 in the

same graph paper. Find the coordinates of the point where two lines
intersect.

3 Verify that: x>+y>+2°- 3xyz= % (x+y+2)[(x-y)*H(y-2)*H(z-X)?]
4 The linear equation that converts Fahrenheit to celsius :
F= (E)C +32

1)if the temperature is 30° C, what is the temperature in Fahrenheit
11) if the temperature is 95" F, what is the temperature in Celsi

~iii) if the temperature 1s 0 C, what 1s the temperature in Fahrenheit and if the
-~ temperature is OUF, what is the temperature in Celsius?

iv) is there a temperature which is numerically the Same in both
Fahrenheit and Celsius? If yes find it.

S Give the geometric representation of y=3 as an equation in i) one
variable 11) in two variable

6 Factorise : 8x°+ y>+ 2723- 18xyz
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SAMPLE PAPER
SUBJECT-MATHEMATICS

CLASS-X

MAX. MARKS-80

DURATION-3hrs

Seneral Instructions: 1. all questions are compulsory. 2.This question paper contains 40 questions divided
into 4 sections A, B, C, and D. 3. Section A comprises of 20 questions of 1 mark each, section B comprises of 6

Questions of 2 marks each, section C comprises of 8 questions of 3 marks each and section D comprises of 6
questions of 4 marks each. |

4. Use of calculator is not permitted.

MULTIPLE CHOICE QUESTIONS

1. If two positive integer a and b are written as a= x%? and b=xy?. x, y are prime numbers then
HCF (a, b) is (a) xy (b) xy? (c)xy?  (d) x*° .
2. A rational number can be expressed as a terminating decimal if the denominator has factors
(a)2,30r5 (b)2or3 (c)2or5 (d3or5
OR

. 11 :
The decimal expansion of the rational number <235 will terminate after

(a) 1 decimal place (b) 3 decimal place  (c) 2 decimal place  (d) more than 3 decimal place

3 If P (E) =0.05 What is probability of not (E)?
(a) 0.1 (b) 0.095 (c)095 (d)9.5
4. Sin 2A=2sinA is true, when A is equal to
(a) 0° (b) 30° (c) 45° _ (d) 60°

5. Which of the following is a solution of quadratic equation 2x*-x-6 = 0

(a) 2 ( b) -12 (c)3/2 (d)-3
OR

If the roots of the quadratic equation are real then

(a) b*>-4ac=0 (b) b* -4ac>0 (c) b?-4ac<0' ( d) Nonéofthese.
6. The number of termin A.P. 2,5, 8... 59 is,

(a) 12 (b) 19 © 20 (d)25

OR

“The sum of first 20 natural numbers is

@)1 (b) 210 © 200 () 25

. 7. ‘What is the nat_uré of roots of the quadratic equation x*-x+1?

= (a) Ré_all (b) real and équal (c)nonreal  (d)noneof these
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& | of their correspondin
8. The areas of two similar triangles are 81m2 and 49m’ respectively. Then the r(r:;c)io 1:7 .
sides are (a) 9:7 (b) 7:9 (c) _‘81:49

9. The mean of first S naturalno.ts () 6 (3 (0@ 9 @ 2

10. Find the distance of point (2, 3) from X-axis.
Fill in the blanks:-

11. Can 18 and 8 be the LCM and HCF of a number? Justify your answer.

12. The mode of a distribution is 8 and its mean is also 8, then the median willbe_________
* oh i of data

13. The middle most observation of a statistical data has value which IS called ________

- iame he circle will be ——
14. If the circumference and the area of circle is numerically equal, then the diameter of t

15. What is the area of the largest triangle that is inscribed in a semicircle of radius rem. —

Very short answer type question:-

16. If the points A(l, 2) ,B(0, 0) ,C(a, b) are collinear ,then what is the relation between a and b.

17. Find the coordinate of A where AB is diameter of circle, whose centre is (4,-3) and B is (2,6).

18. Evaluate: cos48° —sin 42°.

19.. In triangle APQR and ATSM,< P =55°% <Q= 25°<M=100%nd <S = 259 IsA QPR ~ATSM? Why?
20. If a dice is rolled once then find the probability of getting an odd prime number.
SECTION-B

21. For which value of k will the following pair of linear equations have no solution:-
3x+y=1;

(2k-1)x+(k-1)y=2k+1
22 Which term of the AP: 3, 15 27, 39..... Will be 132 more than its 54 term?

23. |If sin® + cosB = V2 then evaluate tan® + cot0.

OR

if sec 4A = cosec ( A-20°) where 4A is an acute angle, find the value of A.

24, A box contained card numbered 11 to 123. A card is drawn at random from the box. Find the probability
that the number on the card drawn is (i) a square number (ii) a multiple of 7.

OR

_ i In a leap year, what is the probability of getting 53 Sunday?
\ b, ~ 25. Prove that the parallelogram circumscribing a circle is a rhombus.

26.In the adjoining figure, if PQ ]| RS, prove that A POQ ~ ASOR.

" =TJ 1 o] - ] . b
§- it % p = o ' I % J l. I! B
H -'- e T AR g I:.i" N
: i it
] = - - ; ;
7 =L Tl oS r y &
- 5 — i 2 i - Y i
| .
L -
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~ Or
- Show that exactly one of the numbers n, n+2 or n+4 is divisible by3. |
. Draw the graph of the equation x -y +1=0and 3x + 2y - 12 = 0. Determine the coordinates of the

- Vertices of the triangle formed by these lines and the x-axis, and shade the triangular region.
29. Atrain travels 360km at a uniform Speed. If the speed had been 5km/h more, It would have taken 1 hour

less for the same journey. Find the speed of the train.
OR

' ' = a2 2
If the equation (1+m?) x? + 2mex + 2 —a? = 0 has equal roots, show that ¢*=a" {1+

30 Find all the zeroes of 2x* — 3x® — 3x? + 6x — 2, if you know that two of its zeros are v2 and -V2.

31 1 (1, 2), (4, y), (x, 6) and (3, 5) are the vertices of a parallelogram taken in order, findt; aatr;dﬁ:r[.)2 gt
32 |n an equilateral triangle ABC, D is a point on side BC such that BD = (1/3) BC. Prove

OR

| i ides in distinct
Prove that If a line is drawn parallel to one side of a triangle to intersect the other two sides

point, the other two are divided in the same ratio.

33 A cubical block of side 7 cm is surmounted by a hemisphere. What is the greatest diameter the

hemisphere can have? Find the surface area of the solid.
Or

A well of diameter 3 mis dug 14 m deep. The earth taken out of it has been spread evenly all around it
in the shape of a circular ring of width4 mto form an embankment. Find the height of the

embankment. |
34. In figure, ABCD is a square of side 14cm which centres A,B,C and D four circles are drawn such that each

circle touch externally two of the remaining three circles. Find the area of the shaded region.

SECTION-D

g 35. Samir stacked 200 logs in the following manner: 20 logs in the bottom row, 19 in the next row, 18 in the
A T RN row next to it and so on. In how many rows are the 250 placed and how many logs are in the top row? Also
i writethe value depicted here. -

" 36.Provethat

_ tan 6 +’ cot © s B
l_cote l_taﬂe— S€C COSCCB
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5

- Or
PTOVE that: (sinA + COSGCA)2+(C03A n secA)2=7+taﬂzA+CﬂtzA' |

37. Abucket made up of 5 metal sheet is in the form of a frustum of a cone of a height 16cm with radii of its

ower and upper end as 8 cm and 20cm, respectively. Find the cost of the bucket, if the cost of metal
sheet used is Rs15 per 100 cm2, [take rt=3.14). '

38. The angles of elevation of the top of a tower from two points at a distance of 4 mand 9m.
From the base of the tower and in the same straight line with it are complementary. Prove that the
height of the tower is 6 m.

Or
From the top of a 7m high building, the angle of elevation of the top of a cable tower is60”

and the angle of depression of its foot is 45°. Determine the height of the tower.

39. Draw a triangle ABC with side BC=7cm, £B = 45°, £A = 105°. Then, construct a triangle whose sides
4

are “times the corresponding sides of AABC,

40. The following gives production yield per hectare of wheat of 100 farms of village. Draw a more than type
ogive

Yield in 12 255 1 he 16
kg/ha

OR
In the median of distribution given below is 28.5. Find the value of x and y.-

b I 2R s oy

~ . §.sahu KVIIT KHARAGPUR
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